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M. Com. (Sem. IV) (CBCS) (W.E.F. 2016) Examination

July - 2022

Statistics
(Adv. Busi. Statistics - VI) (Operation Research)
(Old Course)
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Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.

Maximize z=2x +x, using Simplex method
Subject to constraints : 4x; +3x, <12, 4x;+x, <8,
OR

Explain : Types of operation research.

(a) Write Mathematical Model of LPP.
(b) Write advantages and disadvantages of LPP.
OR

Solve the following LPP by graphical method.
Objective function : Z=2x+y

Constraints : x+2y <10, x+y<6, x—y<2, x-2y<l x,y>0

15

15

20

20

10
10

20

What 1s PERT and CPM ? Also write characteristics and 15

advantages of its.

OR

DCM-16080002040505 ] 2

[ Contd...



3  Explain the following terms : 15
(1) Players
(2) Payoff matrix
(3) Saddle point

4 Explain : EMV, EOL 15
OR

4  Probability distribution of Demand of one day of 15
Ice-cream shopkeeper is given below
Demand : 15 16 17 18
Prob. : 0.2 025 04 0.15

If cost price of Ice-cream is Rs. 100 and selling price is

Rs. 120 unsold cup price is worthless. How many cups he
should daily?
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